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il Fi | 13,359,135 39.9] 13,353,295 37.9 A 5840 A 00
# K OE 5 OB 260,018 0.8 260,157 0.7 139 0.1
oOF OB X & % 6,273 0.0 8,543 0.0 2,270 36.2
B 8 3 x f % 130,349 0.4 175,108 0.5 447759 343
KRAEFZEFNGIXRSE 134,423 0.4 232,567 0.7 98,144 73.0
EANEEBR XM R 219,885 0.6 291,704 0.8 71,819 32.7
#HOBEBEBXMNE 2,270,136 6.8 2,381,829 6.8 111,693 4.9
BEHEDREHR M & 506 0.0 3,772 0.0 3,266 645.5
REMETXMNE 63,332 0.2 73,535 0.2 10,203 16.1
S = T G 130,120 0.4 589,228 1.7 459,108| 3528
;R S I 4,311,819 129 5,103,319 14.5 791,500 18.4
RBEE2NREFINZ A& 13,158 0.0 13,206 0.0 48 0.4
THEERVTEHES 9,851 0.0 9,377 0.0 A 474 A48
= A H RV FHEH 480,618 1.4 470,933 1.3 A 9,685 A 20
E x H £ 5,849,826 17.5( 6,073,807 17.2 223,981 3.8
8 53 H & 2,305,829 6.9 2,440,954 6.9 135,125 5.9
) B N A 17,062 0.2 34,234 01] A 42818 A 556
& B & 36,978 0.1 87,186 0.2 50,208 135.8
S A & 833,133 2.5 424,589 1.2] A 408544 A 490
% 2 & 1,621,149 45 1,151,854 3.3| A 369,295 A 243
# X A 961,095 29 1,378,779 3.9 417,684 435
il £ 530,800 1.6 122,400 2.1 191,600 36.1
% A ) B 33,505,485 100.0] 35,280,376 100.0[ 1,774,891 5.3
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& = Z 244,243 0.8 253,772 0.8 9,629 3.9
3 ¥ Z 3,633,187 11.2( 3,747,665 1.1 114,478 3.2
E 4 & | 15342454 47.41 16,899,108 50.2 1,656,654 10.1
& 4 & 3,671,200 11.0] 2,940,628 8.7 A 630672, A 177
) & = 129,308 0.4 124,714 0.4 A 4594 A 36
E M Kk E X E 200,543 0.6 211,204 0.6 10,661 53
5] T & 614,809 1.9 397,694 1.2 A 217115 A 353
T N Z 2,246,861 7.0 2,386,776 7.1 139,915 6.2
B Br = 1,085,502 3.4 1,236,740 3.7 151,238 13.9
£ ] Z 2,696,623 8.3 2,965,346 8.8 268,823 10.0
¥ & ® 1’8 % 0 0.0 0 0.0 0 0.0
N E Z 2,589,001 8.0 2,603,940 1.4 A 85061 A 33
¥ 1 & 0 0.0 0 0.0 0 0.0
5 H a it | 32,353,631 100.0( 33,667,587 100.0 1,313,956 4.1
m AR ES BECA) 1,151,654 1,612,789
BEEANEHITNEHREB) 111,678 102,016
FENX#BE(A-B) 1,040,176 (C) 1,510,773 (D)
B & F X X #8 (D—C) 470,597 (E)
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" £ B E = (G) 0
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E X H % 331 0.0 10,209 0.1 9,878| 2,984.3
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& 24 & 73,379 0.8 99,253 1.2 25,874 35.3
= A a g 8,762,236| 100.0[ 8,468,228 100.0f A 294,008 A 34
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i gt =y 4,323 0.0 10,346 0.1 6,023 1393
’r &R B & = 5,872,780 67.8[ 5,633,066 66.6[ A 239,714 A 41
EREERARREXEMTE 2,603,654 30.11 2,603,796 30.8 142 0.0
’r B F= %X # 100,682 1.2 100,957 1.2 275 0.3
E &€ B I % 73,453 0.8 99,366 1.2 25,913 35.3
N = & 0 0.0 0 0.0 0 0.0
E b3 H & 8,091 0.1 8,993 0.1 902 1.1
¥ ] & 0 0.0 0 0.0 0 0.0
= H E) B 8,662,983| 100.0[ 8,456,524 100.0f A 206,459 A 24
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ARV FHN 9 0.0 1 0.0 A8 A 889
M B X A 11 0.0 11 0.0 0 0.0
& A & 25,499 59.1 45,467 46.0 19,968 78.3
E X A 0 0.0 53,430 54.0 53,430 HiE
s 2 & 17,655 40.9 - - A 17,655 B
i A a H 43,174 100.0 98,909, 100.0 55,735 1291
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% as] ) =t 43,174 100.0 98,909| 100.0 55,735 1291
m AR HZESIEE(A) 0 0
BEEANGHIRESHIRDB) 0 0
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(25 B £ 1,749,056 20.9 1,886,650 21.8 137,494 7.9
E X H % 1,769,883 2111 1775414 20.5 5,631 0.3
X th 2 & XM & 2,025,881 2421 2,117,099 24.5 91,218 45
B X H & 1,142,050 13.6 1,145162 13.2 3,112 0.3
B B X A 436 0.0 514 0.0 78 17.9
e A & 1,383,724 16.5| 1,384,274 16.0 550 0.0
& 24 & 308,438 3.7 349,286 4.0 40,848 13.2
o 1IN A 832 0.0 102 0.0 A T730] A 87.7
54 A & H 8,380,300 100.0] 8,658,401 100.0 278,101 3.3
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i % Z 74,169 0.9 82,482 1.0 8,313 11.2
®r & B & = 1,221,192 89.9 7,489,303 89.4 268,111 3.7
E &€ B 1I =% 125,901 1.6 228,170 2.7 102,269 81.2
o X B F X B 420,532 5.2 455,494 54 34,962 8.3
N & & 0 0.0 0 0.0 0 0.0
E b3 H & 189,220 2.4 127,842 1.5] A 61378 A 324
¥ ] & 0 0.0 0 0.0 0 0.0
= H E) B 8,031,014 100.0] 8,383,291 100.0 352,277 4.4
m AR HZESBE(A) 349,286 275,110
BEEANEHITRERIRDB) 0 0
EENXXXB\E(A—-B) 349,286 (C) 275,110 (D)
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